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2x(2 x 2 - 7 x + 3) - 9x4 - 3x3 - 6x 2 

B 1 2 
3x(2 x 2 + x - 3) 8x4 - 8x3 + 2x 2 

C I 3 
3x2 (2 x 2 - 2 x - 3) 6x 3 + 3x2 - 9x 

D I 4 
2x(4 x 2 - Bx+ 3) 4x3 - 14x2 + 6x 

E I S 
3x(4x2 +x-1) 8x3 - 16x2 + 6x 

F I 6 
2x2 (4x2 -4x + 1) 6x3 - 10x2 + 4x 

G 1 7 
-2x2 (3 x 2 + 5 x + 2) 6x4 - 6x3 - 9x 2 

H 8 
- 3x2 (3 x 2 + x + 2) -6x4 

- 10x3 
- 4x2 

I 9 
2x(3 x 2 - 5 x + 2) 12x3 + 3x2 

- 3x 

v~ ~O«-r ~rK on a. s~ra..fc- sl,,ed o+ Po-fer. r,i\d t:,ou.r ans~ 
'" tW- \(;'kr tO\l.,U'f\n. 1lu.n ~t/U. K"ow 'jl\..l dA&t it corrtc:f/'j l! 


